Computing the sample correlation coefficient and the coefficients for the least-squares regression line 

An electric utility wishes to examine the relationship between temperature and electricity use in its service region during the summer months. The bivariate data below give the maximum temperature (denoted by 
 INCLUDEPICTURE "http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%7B" \* MERGEFORMATINET 


, in degrees Fahrenheit) and the electricity use (denoted by , in thousands of kilowatt hours) for a random sample of fifteen summer days. The data are shown in the Figure 1 scatter plot. 
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Temperature, x | Electricly use, ¥
(indegrees | (inthousands of
Fahrenhei) | Kilowatt hours)

1.1 3360
857 3154
6.0 3888
7.0 3010
708 3013
701 2688
830 3158
748 2820
907 3175
9.9 350.2
711 2385
607 3018
833 2620
614 3508
975 3385 FIm1)
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The least-squares reqression line for these data has a slope of approximately 2.89

Answer the following. Carry your intermediate computations to at least four decimal places, and round your answers
as specified below. (If necessary, consult a list of formulas )
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Answer the following. Carry your intermediate computations to at least four decimal places, and round your answers as specified below.

What is the value of the y-intercept of the least-squares regression line for these data? Round your answer to at least two decimal places.

What is the value of the sample correlation coefficient for these data? Round your answer to at least three decimal places.
